~
~—

@

3

4)

®)

©)

(N

®

@

EDI - B DI

1T X AT

% Al

A B

(—6)X(+2)

(+5)X(+7)

(+DX(—2)

(+9 X (+6)

(+9X(=5H)

(+6)X(+23)

(+4)X(=7)

(+8)X(—8)

(—4)X(+5)

(+2)X(—8)

(—6)X(—4)

(+7)X(=23)

(—X(=7)

(+)X(+7)

(=DX(=2)

(+7DX(—=4)

(20)

@n

(22)

(23)

24)

(25)

(26)

)

(28)

@9

(30)

31

(32)

(—4HX(—=4)

(+4)X(+6)

—8) X (—23)

"

—5) X (—4)

"

(+4) X (+8)
£+5>x(—2>
£+7>x(—8>
€_6>X(_7>

(+8)X(+9)

(33)

(34)

(35)

(36)

37

(38)

(39

(40)

(41

(42)

(43)

(44)

(45)

(46)

47

(48)

(+0) X (+6)

(—X(—8)

(=3)X(=2)

(—=DX(+3)
g—7>x<+5)
g—@)x<+5)
g—S)x<+é)
g+8>x<—9)
g+2>x<—4)
g+2>x<+7)
g+é)x<—9)
g+8>x<+8>
g—é)x<—8)
g+8)x<+é)

(—2)X(+06)

(+7DX(=7)

(49)

(50)

61

(52)

(63)

(64)

(65)

(566)

YD)

(68)

(69

(60)

1)

(62)

(63)

(64)

(=7 X(+8)

(+6)X(+5)

(+8)X(—23)

(+5)X(—6)

(+HX(+2)

(+5) X (+2)

(—8)X(—4)

(—X(=23)

(—3)X(—8)

(+2)X(+9

(—8)X (=5

(+3)X(=7)
(+DX(+8)
(=) X(+7)

—H)X(—=2)

I

(+6) X (+8)



~
~—

2

~—

3

4)

O - BOI  THT XIAHT
(—oOx(+2) " (=Hx(=4 @ (+5Hx(+6) @
=—12 = +16 =430
(+5)X(+7) 9® (—x(+8 @ (—oyx(—g @
= +36 = —32 =472
(49X (=2) 9 (Zoyx(=9) @ (_g)yx(—2) O
=—18 - +18 =46
(DX (+6) @ (=Dx(=8 ¥ (=x(+3
= + 54 = 456 = — 27
(+NX(=5 @ (+oOx(=8 P (=7nx(+5 @
= — 45 = — 48 =35
(+OX(+3) @ (=9x(=6) @ (—=9x(+5 @
-+18 - + 54 = — 45
(+HX (=T @ (+)x (=4 P (=)x(+6) ¥
= —28 =12 -—18
(+8)X(=8) @ (—&)yx(+8) “ (+8)x (-9 *
= — 64 = — 64 = =72
(—HX(+5) @ (+Hx(+6) P (+x(—4H O
= —20 - 424 -8
(+DX(=8) @ (=&)yx(=3) @ (+x(+7 @
=—16 - +24 -+ 14
(=X (=4 P (=px(=4 @ (+oOx(=9
- 424 =420 - — 54
(+DX(=3) @ (+Hx(+8) “ (+8x(+8 @
= —21 - +32 - + 64
(=DX (=D @ (+5x(=2 ¥ (—ox(-8
- 463 =—10 - 448
(DX +D D (DX (=8 W (+8)x(+4) @
- 463 = — 56 - 448
(=Dx (=2 PV (=ox(=D W (=Dx(+6) @
-+ 14 -+ 42 =12
(+DX (=4 @ (+)x(+9 @ (+Dx(-7
= —28 =472 = — 49

B E i

(=7 X(+8)
= —56

(+6)X(+5)
= +30

(+8)X(—23)
= —24

(+95X(=06)
=—30
(+4) X (+2)
=48
(+5X(+2)
=+10
(—8)X(—4)
=432
(—9X(=23)
=+ 27
(—3)X(—8)
=+ 24
(+2)X(+9
- +18
(—8)X(—=5H)
= +40
(+3)X(=7)
=21
(+9) X (+8)
=472

(=5 X(+7
=—35
(—6)X(=2)
=412

(+6)X(+8)
= +48



